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Q:1 A sentence, split into four parts, has been given.
Choose the best order which produces the original
sentence:

when he first joined the England setup last winter.
(A)/ Tom sibley was greeted with a “Hello, Fridge”
from Joe Root B)/ But now a more slimline
version of the Warwickshire opener heads into his
first Test (C)/ on home soil after shedding 12kg
during the lockdown. (D)

1. BCAD
2. ADBC
3. BACD
4. ABCD

Q:2 Given below are four sentences, which are
jumbled. Pick the option that gives the correct
order.

P- They have abilities, but different from those in a
‘normal’ person.

Q- The term person with disabilities (PwD), which
was used earlier is not an accurate and positive
term.

R- So, other expressions have come into use.
S- One of these is 'differently’ abled.

1. PSRQ

2. QRSP

3. QPSR

4. SPRQ

Q:3 A sentence, split into four parts, has been
given. Choose the best order which produces the
original sentence:

for backward classes (1) | a vexed
us (2)cmd to reserve more seats (3
clamour to open more colleges (4)

1.234]

2.2413
3.243]
4.2143

roblem facing
S) | is the

Q:4 Given below are the four sentences, three of
which, are jumbled. Pick the option that gives the
correct order.

A. Most countries now welcome tourists for the
money they bring in.

B. The money for that has to be borrowed from the
banks.

C. Such countries need a lot of money to build
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good hotels.

D. Very often the money borrowed is not enough to
build good hotels.

1. ADBC
2. ACBD
3. ADBC
4. ABCD

Q:5 Given below are the four sentences three of
which are jumbled. Pick the option that gives the
correct order.

A. The balloon took off slowly.

B. The spectators were still waving to them.

C. But soon they were out of sight.

D. Within minutes they were high above the fields.

1. ADCB
2. ACBD
3. ADBC
4. ABCD

Q:6 Select the most appropriate sequence from
the given options to make a meaningful
paragraph from jumbled sentences.

A. All day | seem to remember, | played on the
sands with strange exciting children.

B. Then watched the incoming tide destroy them.

C. My parents took me by car to a place by the
sea.

D. We made sandcastles with huge walls.
1. ACDB
2.CADB
3. CDAB
4. ABCD

Q:7 Select the most appropriate sequence from
the given options to make a meaningful
paragraph from jumbled sentences.

A. Due to the movie, tourists started coming to the
beach there.

B. Maya Bay in Thailand was in the media in 1999
when Hollywood arrived there to film ‘The Beach'’.
C. One of the film’s actors was Leonardo Di Caprio.
D. As many as 4,000 visitors would arrive on boats
every day.

1. BCAD

2. CBDA

3. ABCD

4. CABD
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Q:8 Select the most appropriate sequence from
the given options to make a meaningful
paragraph from jumbled sentences.

A. And | was earning barely enough money to keep
body and soul together.

B. It was twenty years ago.

C. At that time | was living in Paris.

D. | had a tiny apartment in the Latin Quarter
overlooking a cemetery.

1. ADBC

2. BCDA

3. ABCD

4.BDCA

Q:9 Select the most appropriate sequence from
the given options to make a meaningful
paragraph from jumbled sentences.

A. Flying kites is an old world sport.

B. This sport involves a lot of risk.

C. So, one has to be very cautious and skilful.
D. It was quite popular during the days of the
Nawabs.

1. BDCA

2. BACD

3. ABDC

4. ADBC

Q:10 Select the most appropriate sequence from
the given options to make a meaningful
paragraph from jumbled sentences.

A. It was tossed high on the waves.

B. A violent storm rocked the sea.

C. The helpless people aboard the ship plunged
into the sea.

D. Fierce winds struck a sailing ship.

1. DCBA

2. DABC

3. BDCA

4. BDAC
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1. (3) 2. (2) 3. (3) 4. (2) 5. (3)
6.(2) 7.(1) 8. (2) 9. (4) 10. (4)

IAnswers and Solutions

Q:1 The correct answer is option 3 i.e. BACD.

The first part of the sentence is ‘B’ as it mentions
the subject Tom' upon whom the entire sentence
has been made.

The correct formation of the sentence is Tom
Sibley was greeted with a “Hello, Fridge” from Joe
Root (B)/ when he first joined the England setup
last winter. (A)/ But now a more slimline version of
the Warwickshire opener heads into his first Test
(c)/ on home soil after shedding 12kg during
lockdown. (D)

Hence, option 3 is correct.

Q:2 The correct answer is option 2 i.e. QRSP.
The sentence 'Q' comes first as it introduces the
topic of PwD

The sentence 'R’ comes second as it is in
continuation to the first statement that says PwD is
not a positive term.

The third statement is 'S’ as it states one of the
terms other than PwD.

The last statement is 'P' as it explains the name
mentioned in the previous sentence.

Hence, the correct order is QRSP.

Q:3 The correct answer is option 3 i.e. 2,4,3,l.
As part 2 starts with a noun it will act as the
starting part of the statement.

Now we need to find out the verb, as part 1
contains is'" it will come after part 2.

Part 3 makes part 4 complete so it will come after
4.

Part 1 will come at the end of the statement.
Now the final arrangement will be 2431.
Hence, the chosen option is correct.

Q:4 The correct answer is option 2) i.e. ACBD.
The only independent sentence among the given
sentences is ‘A’, hence, it will be the first sentence.

The sentence ‘A’ talks about ‘countries’ and the
sentence ‘C’ further talks about the same
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countries, hence, sentence ‘A’ will be followed by
the sentence ‘C..

So, we have got the combination ‘AC’ which is
given in the option 2) only; hence, it will be the
correct answer.

Q:5 The correct answer is option 3 i.e. ADBC.

A. The balloon took off slowly.

This sentence introduces the scene, describing the
initial action of the balloon taking off slowly.

D. Within minutes, they were high above the fields.
This sentence provides a temporal reference,
indicating that shortly after the slow takeoff, the
balloon gained altitude and was high above the
fields.

B. The spectators were still waving to them.

This sentence introduces another element to the
scene, indicating that there were spectators
present and they were waving to the individuals in
the balloon. This suggests that the takeoff was a
public event or that there were people bidding
farewell.

C. But soon, they were out of sight.

This sentence adds a transition, highlighting that
despite the spectators waving, the balloon soon
went out of sight, possibly ascending rapidly or
moving away from the spectators.

Q:6 The correct answer is option 2, i.e. CADB.
Sentence C gives us the introduction of the story
where the speaker narrates what happened
initially, that is his parents taking him to the sea-
side or perhaps a beach.

Sentence A talks about what happened after they
reached their destination, which is why it shall
follow as the next statement.

Sentence D adds more details to the information
presented by the previous statement, that is it
mentions what the speaker went on to do with the
other children present at the location. Hence, this
shall follow at third place.

Sentence B will appear at the end because it
provides the next phase of the story. This is evident
from the usage of the word 'then” which means
afterwards the previous event.

This arrangement provides a sequential order
where the various events have been narrated
fluently without losing any sense/meaning as the
story proceeds.
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Q:7 The correct answer is option 1, i.e. BCAD.
Sentence B introduces us to the story, which is
about a place in Thailand making it to the news as
Hollywood arrived there to shoot a movie.
Sentence C talks about certain specifications
regarding the movie, such as cast.

Sentence A adds information on what happened
due to the occurrence of the movie-shooting.
Since it is a consequence of the events discussed
previously it shall follow as the next statement.
Sentence D adds further details to the information
given by the previous statement. That is, it
specifies the number of visitors after the previous
statement mentioned the thing about flocking
tourists.

This arrangement follows a sequential manner of
narration, where events and information are
added throughout the passage without losing
fluency nor meaning/sense as the story proceeds
ahead.

Q:8 The correct answer is option 2, i.e. BCDA.
Sentence B introduces us to the beginning of the
story by giving details about the timeline of the
speaker's experience.

Sentence C follows up next because it adds more
details to the information provided by the previous
statement, that is the mentioning of the specific
place during the timeline that was previously
mentioned.

Sentence D adds more details about the place
where the specker resided. As it adjoins details to
the information provided by the previous
statement it shall appear at third place.

Sentence A talks about the condition of the
speaker at that particular time and place. This can
be treated as a conclusive point as the details shift
further towards the person after the previous lines
talked about the time and place of the story.

This arrangement follows a sequential order where
the details are narrated one after the other without
losing any sense/meaning and fluency as the
story proceeds ahead.

Q:9 The correct answer is option 4, i.e. ADBC.
Sentence A introduces us to the main context of
the passage, which is about flying kites. Hence, this
will appear as the first statement.

Sentence D shall follow as the next one beacuse it
adjoins more meaning to the previously
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introduced hobby, denoting it by using the
pronoun it and hence continuing the meaning of
the information presented by the previous
statement.

Sentence B will appear at third place because it
adds more information to the aforementioned
sport, but with a twist (negative aspect). This
change in perspective/detail makes it liable to
appear at third place.

Sentence C follows up next as it adjoins details
with the fact mentioned by the previous statement,
that is the thing about people’s requirement to be
cautious and skillfull since this sport involves
certain risks.

This arrangement provides a sequential flow of
narration, where the details/information gets
added fluently without losing any sense/meaning
as the pqssqge/story progresses.

Q:10 The correct answer is option 4, i.e. BDAC.
Sentence B introduces the story and the main
event to us, that is regarding a violent storm
that had rocked the sea. Hence, this statement
will appear as the first one.

Sentence D adds more details by introducing
the second character/object in the story, that
is the ship. This consecutive addition of
information makes this sentence liable to
appear at second place.

Sentence A adjoins details to the information
presented by the previous statement, which is
regarding the ship. So, this one shall appear at
third place.

Sentence D concludes with the fate of the
inhabitants inside the ship as a result of the
ongoing storm. This event can be treated as a
conclusion as it provides a consequence of
the main event that was presented in the
beginning of this story.

This arrangement is correct as it provides a
sequential order of narration for all the events
and consequences that progress in the story.
The sense/meaning doesn't get jumbled and
the fluency of narration remains intact.
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